EE2301 Introduction to Digital System Design

Solution to Final Exam

Fall 2014

Dec. 18. 2014
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(If equal, result is the same
regardless )

These are ‘even/odd'
/_ comparators form (1)

r €Even




f1 =X X5 + X XXX X X, X Xa Xy Xy

= XX XXX =X X, + XX

= Xl(XZ +X3)
f3: X3(X1+Xz)
f5=X2(X1+X3)
T, = X, 4+ X, Xg Xy 4 X, X5 XX, Xg

=X XX
f, =% +X%X
fe =X+ XX

b X c d X a
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The non-trivial cases :
(c(ba+x)+d)x = chaX +cx+dx = x(c+d)
b(x(c+d)+a)+x=pxC + pxd +ba+x=ba+x




(b) SO :00000001

(©)

S1:00000010
S2 : 00000100
S3: 00001000
S4 : 00010000
S5 : 00100000
S6 : 01000000
S7 : 10000000

Q, ZQG)zY +Q7)Z+Q1XY
Q' =Q7XY_+QOY_+QZXY
Q; =Q,XY +Q X +Q, XY
Q; =Q XY +Q,Y +Q, XY
Q; =Q, XY +Q,X +Q,XY
Qs =Q3XY_+Q4Y_+QGXY
Qs :Q4)ZY +Q5X+Q7XY
Q; :QSXY_+QGY_+QOXY
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0 =0.XF +0,F + 0, X¥

0 =0 XT + 0.7 +0,XT

0; =0, X7 +0.X +0.XT

07 =0, XT +0.F + 0. XY

g =

Q7 =Q.XT +0.F + 0, XY



